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MEES ALY 19,410 18, 141 1,269
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Os¥& |l 100,000& = 11CH 1,100
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= 262,253
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O2LtS J+3J1(300ha) 477,377
= 238,688
Al 71,606
T 167,083
OZ&E X It I1(10ha) 13,906
= 6,953
Al 2,086
T 4,867
OofglLt® It J1(20ha) 33,222
= 16,612
Al 4,983
- 11,627
N 11,666 11,666 0
= 5,833
Al 1,750
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- 19,200
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= 19,952
Al 8,979
T 20,949
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- 20,949
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70,000%5H x23] 700
Abg & 250,000 0 250,000
= 175,000
Al 52,500
T 22,500
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B Y EE CAZB EM
Sl TA=S X8 o 2 (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San HDE2
- XS XA 30,000& *13] 30
- XS X HIIZ A 60,000& *13] 60
- xR X 22l 3,500,000& = 1CH 3,500
203 ¥R =&XH| 1,000 1,000 0]
03 A ZHF=XH R = XIH| 1,000 1,000 0
OZYR g3 =2 1,000
206 M = Hl 26,710 21,430 5,280
01 X Z Hl 26,710 21,430 5,280
O3d =522 XHXibl 4,400
-Hl2(=28dl22 38) 8,000& *300% 2,400
— g Hek 10,000& x1004 1,000
- K== 10,000& *100= 1,000
OotUsdZd =X0 22 XMl 1,110
-Hl2(=2gH 2 2 38) 8,000 x50 1L 400
— gk H ek 10,000& *504 500
-NF= 7,000 x30 % 210
O3 HOAH 22l XM 13,700
-S43, g2 S 100, 000& *702H 2 7,000
-HE S 70,000& *10= 700
-2 30,000& *200m’ 6,000
O0aoI2 L 221 ¥ DRE A=
6,500,000& *13] 6,500
O DI EFXF TH 1,000,000 » 14! 1,000
307 212t0| & 500 500 0
06 282 500 500 0
O0elol=sd =dlibtha HAEBE NMBES
100, 000& 521 500
401 AIEHIL 20| 150,000 20,000 130,000
01 A& HI 150,000 20,000 130,000
ONelolsd AIE2 & 70,000,000 =14 70,000
O3d8 &l 30,000,000 14! 30,000
OZ22UW Heg=s &l 30,000,000 =14 30,000
O3lss FHagaisy 3238
20,000,000 =14 20,000
BHS AP (L =X D) 238,705 283,323 £ 44,618
olzie oy 163,649 211,123 N4T 474
ol 2AH| 163,649 211,123 N4T 474
101 2121 d| 163,649 211,123 N4T 474
03 I HLZ2E2 N+ 163,649 211,123 N4T 474
(OPIE=3=; 1,867,450& *3¥ ~12& 67,229
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-fEgz2e+g 30,0003 x3H 128 1,080
Oa0= 36,177
-J|Z=¢ 2,192,450& »200%*3H 13,155
-&32=+¢ 2,192,450& x100%*3H 6,578
- M= 2,192,450& »250%*3H 16,444
O&dMaNH= 1,867,450% *50%*3 2,802
O=cl = 4| 12,573
- Mg Al 130,000 3 122 4,680
- EF0tl 2,192,450& x120%*3H 7,893
OzxU2L4Y 23,400
-gy2Rsg
16,2503 x150%*4 Al 2+ x52 2 «3H 15,210
—RRBEINLY
16,2503 *8Al 2t +212 »3H 8,190
O <44l 100,000& 3 122 3,600
O S AtHI 50,0003 x3H 128 1,800
OXte tHstd syl K& = 300,000& x1&H *13] 300
OXHnSstdsidl =Y 3,738
-=gz 362,700 x2H x43] 2,902
- n2I XA 104,380 2% x43| 836
Otetial X2l 30,000 *3H »23] 180
OkLx ZEHM=Us XA 20,0003 x3H +13] 60
ou=l 1,290
-2RE(s8) 140,000& *3H 420
-225((6=) 100, 000& »3H 300
—gsts(49) 50,0003 »3H 150
- gst=(5t2l) 30,0003 x3H 90
- OtE (&Y 3t 40,0003 »3H 120
e = 20,0003 »3H 60
- %9 50,0002 »3H 150
JlE3l 75,056 72,200 2,856
Jl2&l 75,056 72,200 2,856
201 L2l 14,696 13,640 1,056
01 At 22l 14,696 13,640 1,056
O=SAMEXN L 20,0003 »66%F A 1,320
OEUHTY 2,508
-T2l 132,000& 72l 924
—ZdZgd 396,000 *43| 1,584
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